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3. (=g Es 1,700 1,700 0
1. A8 1,700 1,700 0
3. A EX 10,842 4,122 6,720
1.8AER 4 10,842 4,122 6,720
Liz]129edA = 1,000 1,000 0
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1. 2889 300 300 0 .
5.¥858% X4 40,800 20,000 20,800
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1. TR 4,948 3,100 1,848
1. [2]nFEALeS 1,100 1,100 0
1. 28L&y 1,100 1,100 0
2. (2182 Z 24 1,000 1,000 0
1,282y 1,000 1,000 0
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AABAZAHE 1 1,348,0009*13] = 1,348,000
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1L28sn 0 400 400 ;}‘_";%aq% SAARE © -400,00081+1 -400,000
3.4t ARS 600 600 0
1.[2]9ATS 600 600 0
1. 285 600 600 0
3.478m 9 13,000 ol 13,000
1.975ne3 13,000 0 13,000
1L[z]2ETuLd 13,000 0| 13,000
18952 5,040 o] 5,04 g{fﬁéigf}igw‘mm 40,000 4,480,000
,('2383211:_1%)7343%3] : 10,000¢+29 560,000
2. A QB A ] 600 0 600 gé*ﬁ)g__i%)ﬂ%%omﬁ—%ul 60,000 600,000
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%‘é :éﬂ_ljr)m/\}?elilﬂl : 20,00091+5 100,000
4,852 94 &9 7,792 12,700|  -4,908
1. 32429 7,792  12,700| -4,908
1.[2]1%aARHAH 3,592 8,500  -4,908
1. gtegn 0 1,308 -1,308|AFEFTARS : -1,308,00098+15 = -1,308,000
2. 25898 1,200 1,500 -300[ 5T AAEE 1 -300,00091Y = -300,000
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2.[Z]HBEET &% 4,200 4,200 0
1. 28890 4,200 4,200 0
5. 2% MHA 13,460 2,000 11,460
1. 2583 NA 13,460 2,000[ 11,460
Liz]7esta g3 44 13,460 2,000 11,460

1.k g 5,760 0 5,760 ggf@-l%)%%%iﬂ ' 5.760,0004+1 5,760,000

2. HFTYH 7,700 2,000 5,700|71EbB] EF3] : 570,0009+10% = 5,700,000
6.5 Yutedy 60,677|  90,561| -29,884
1373 &9 17,906 54,596 -36,690
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Lzlagded 6,500 6,500 0
1. 9utd F 3211 3,500 3,500 0
2. AAFAFFF A0 3,000 3,000 0
2.[z2]¥34e9 11,406/ 10,906 500
1. 9452 n) 4,308 4,308 0
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4. 37 g 2= 1 200 200 0
5. 99 5520y 300 300 0
2.BARAY7IELS o 37,190 -37,190
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1. 2885y Of 37,190 -37,10|F-X Q24w : -37,190,000¢ %13 = -37,190,000
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1.3t A A 3] 17 40,971 34,165 6,806
L[z]¥F_FRAATHS 15,450 15,450 0
1.A47183 9,000 9,000 0
2. 484 2R 720 720 0
3.718FF8F 5,730 5,730 0
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1.95H] 385 385 0
3. [x]N20E4Y9 8,140 7,780 360
1. 9981440 8,140 7,780 360| B FEHFARLFTE G  360,0008%13] = 360,000
4. [Z]N2DraE 13,996 7,550 6,446
1.717tA 2 7] 560 400 160| 4 &91 %= : 160,0009+13 = 160,000
2. gEkEH| 13,436 7,150 6,286| A8 ARET YUY : 106,0509*20F = 2,121,000
AFRSA4 ¢ 3,000,0009+13 = 3,000,000
FAHFA G4 0 730,0009+13] = 730,000
W71 SF{AEHE ¢ 100,0009 %138 = 100,000
:1%101%01/\1422371%*} 1 185,00091*18] 185,000
}FATEFEY  50,0009*3F = 150,000
5.[z2]%##e 3,000 3,000 0
1.0 uk= g1 3,000 3,000 0
3.3389 ¥ 1,800 1,800 0
1.E3ued N4 2% 500 500 0
1.[2]8uLEH958L% 500 500 0
1. gWd 7 5] 500 500 0
2.8 52 m¥Yy 1,000 1,000 0
L[2]g7=E2 200 200 0
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12953 800 800 0
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1. [z ned9993 300 300 0
1. g9 7534 300 300 0
A Z3A 313,605| 176,669| 136,936
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